oooooogd
Oooogg

1 OO0

cO00o0oO0o0o0o0oOU0Oo00UO0OO0OUDO0OO00O0OU UDOODOoO0oUDOO0OOoUoOO
oooooo

2 OoOOoo0 ooboobooda

gboboobooooooooooooobooosbobooooooooooooooooboon
stdio.h O standard(0 O 0O O)input/output(0 00 )0 0000000000 0OO0OO0OOO

r00b00ob0o0b0bobDoobooboboyyoobobooobUboboob99bnoooobo
gogooboboogd

21 00O

000000 "programming02’00000000000D00COO0OO0OOOCOOOODOOOOO
0000000000 programmingd2 0000000000

2.2 0O00O0O0O0O
/KK ks ok sk sk ok ok ok ok ok ok sk ok sk ok ok sk ook ok kK ok ok ok ok ok ok
O0oooooooo
********************************/
#include <stdio.h>

int main(){

return 0O;
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23 00000

000000000000 000000 pgsample.c000000000D0OO0ODOOOOOOO
0000000 pg-sample 0000
> gce pg-sample.c -0 pg-sample

24 0000

00000ooooooooo000oooooooooooo”00’000ooooooooon
ooo

> pg-sample

>

3 Ugob oo-gb-go

gbobooobooooboooboooobooobooboooboobooooobooobooooo
0 (D00o0O0000o0000)0000o00U000O000UO000O0UOO0O0oDUOoOOoOOUo
gboooo 310000

e00b0o0O0ooOobOo0ooobOobooooobooon

100000000000000000 (OO0 mpwt)000OO0OOOOOOO (COoO”O”)”
ooooo)oooo

gO000DOoo000OoDoOoo000oDoOOoOOOscanfO00O0O00DODOODOOOOODO
gboooooao

12000000000000000000000000000 input0 2000000 output
do0o0o0oooo0o0oUooo0o0Ud+-*/(+)000000000U0DO0DO0O0O0DUOOOOOO
00000000000 (000000 10000 scanf014000 printf 0000000000
ooooooooooo)o

14000000000000000O0O0C000000DO0000000Impuwtx2=...00000
gobgobobobdoutput0good

g0ooooooooocooOo0Ooooo0 printf0 000000000 OOOOOOOOOO
gboooo

3.1 00000

[ Fkok sk sk sk sk sk ok ok ok ok ok ok ok ok ok ok o o ok ok kK KoK oKk ok ok oK
gooobobob-0o0-0d

********************************/

#include <stdio.h>

int main(){

int input, output;
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11
12
13
14
15
16
17

scanf ("%d", &input);
output = input * 2;
printf("input x 2 = %d\n", output);

return O;

3.2 0OUOogn

gobooobooboooboooboodn mpr-out.c U0 00O0ODOODODO0ODOOODOOOOO
0000000 inprout DO OO

> gcc in-pr-out.c -o inprout

3.3 Uggn

00o0Do00oo00oo0ooooooOo00oDo0ooO00oDoooDoOoooOoooDoooon
oooobooogoo

> inprout

3(@oooo)

impwtx2=6(00000000000O00O0O0O)

3.4 UOOOooOO

go000o000D0000D0O00 scanf 0 printf OO0 O00OOCOO0DODOOODOOOODOOOO
ooooboooog

3.5 Uggooo
3.5.1 0000

goboobobooboobooboon
e \Cc (CtrlDOOOOOODO cOOD)

e JOODODO

3,52 00000
000000000 inprowt 1000000000000
e 12350000000
e 5.5,890,11.22593 000000

e heloOODOODOOODOODO



3.5.3 DOOOOO

gboboooboobooooobobooooboobobooonog

e JOODOODO 1I000DOODOO
e JOODOODODO3000OODO
e JOODOOOSOOODOO

e JO0IDOODOOODOODOOODOODOODOOD +—x+0000

3.54 00000

ggboboboboaoboobooboobooboboaobod

e 00 (scanf) 0O OIDO”’00000O0’000L0O0OOOODOO

e« 0000000000000 0000000000000000 (inputx2=600 input(3)
x2=600)

3.5.5 00000

gbooooboooboobobooooboooobooooooobooooboOoobn

4 U0O0O0O0O0OO0OO0OOOOOO

00000000000 (D00C00)0D00000000000OD0ODbandito0.odO00OOO
goboooobon

goboobgooboobooboooboboobooboobooboooDoooDbooOo 1BOoUOO
init_bandit() 000 O

gobogoboooooboboooboboobooboboobooboobobonoobon
00O000ODO0OO0O00 bandit0.oOOOODOOODOO30000000O00O0O0O0O0O0OO 1,2,3
ggobbooobobodbooooobbuooob bbb obbooooo
00000000 100000000000000000 (0000000 O0)D0DOoooDUOo
goboobooboobooobooboobuooboobooobo2o0bOob0bO

reward = bandit(select_arm);

0000000000000 (1,2,3)0000000 select,arm D000000000O0O0O0O
00 (@00 (1)/000 (0))0 reward 0000000

0000000000000 00020000000000000000000 (doubled ) O
000000000 printf000000"%d"0000007%P0000000000000O0O
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4.1 00O
O0000oooooooooooooooooonogog
e bandit.h

e bandit00.0

4.2 00000

0000000000O000OoO00oUOoOO0 joo0o0booooUoooooo

/KooK ok ok ok ok ok ok ok ok ok o ok ok ok ok sk sk ok ok ok ok ok ok ok ok ok o ok ok ok ok sk ok ok ok ok ok ok ok ok ok o ok
O00o00O000O0ooooo

sk ok sk sk sk sk ok sk ok ook ok o o o o o ok ok sk sk sk sk sk sk sk sk sk ok ok ok o o ke ok ok sk sk sk sk sk sk sk ok ok ok ok ok ok ke k /
#include <stdio.h> /x DO0O0OOO0OOOOOOO x/
#include <stdlib.h> /x OO 0OO0OO0OO0O0OOODOOO */
#include "bandit.h" /x JO00OO00OO0O0O0O0OOOOOOO =/
int main(){

int select_arm;

double reward;

init_bandit(); / 0000000000 */

/¥ 00000000000 =/

printf ("0 000C000D0COO0OOCOO0O0O0O [1-3]:");

scanf ("%d", &select_arm);

/* 00000000 =/

reward = bandit(select_arm);

printf("000.. %1f 000000 \n",reward) ;

return O;
}

4.3 00000

0000000000000 00000 gameplayc 000000000000 OO0OOO0OO
0000000 gameplay 00 O0O

> gce -o gameplay gameplay.c bandit00.0

000000000 DOOO0O0O0DOOO00D00 bandit.hd bandit00.oDOOOOOOODOOO
O0000000oO00oooOoooooooooooooooog



4.4 0000

00o000o0o0ooDo0o0ooOoUooOooOooDoOo/ooboUoooo

4.5 0000400
4.5.1 0O0OOO0OODOOOO7?

bandit00.0 0 00000000000 300000000000000000 1,23000000
00000000000000?

5 0OoOog

goog

(1) DO0000OO0UDOOoDOOoooOOO



